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QUESTION 1

What are the correct steps involved in Business process creation in Process Cloud Service? 

A. Visio (vdx), BPMN 2.0 (bpmn) and XPDL 2.x (xpdl) 

B. Perform WSDL configuration, XML message definition and web page design 

C. Create an Abstract, Design Services, Set up Notify, Configure Send and Receive and Decisions 

D. Create a process; assign roles to the process; Design the flow; Configure flow element properties; Define the data
and then Associate the data 

Correct Answer: D 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/business-
processes.html#GUID2080743F-61AA-4D41-B5BA-B80E2F8F903A 

 

QUESTION 2

Which expression can you use to schedule integration runs? 

A. a XPATH 

B. an iCal 

C. a JavaScript 

D. a XSLT 

Correct Answer: B 

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-
scheduledintegrations.html#GUID-622B74FE-D9EC-4A62-8DF1-1E96912C8FB8 

 

QUESTION 3

Which three statements are true about SOAP and advantages it provides? (Choose three.) 

A. RPC (Remote procedure calls) are sometimes blocked by firewalls and proxy servers - SOAP overcomes that. 

B. It is able to act like a cleaning agent to remove excess data from the transmission protocol. 

C. Since its XML based, it is platform and programming language independent. 

D. It stands for Simple Object Application Protocol. 

E. It uses XML based content communicate between two client machines across any modern network. 

Correct Answer: ACD 
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QUESTION 4

Which three options are available for Business rule conflict resolution in Process Cloud Service? 

A. No Conflict 

B. Skip 

C. Override 

D. Escalate 

E. Conflict 

Correct Answer: ACE 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/adding-conflict-resolutions-decisiontables.html 

 

QUESTION 5

Which two statements are true about implementing an API-First strategy? 

A. The API is to be developed first before any UI or new business logic are created. 

B. It generally is assumed that SOAP/WSDL are the key specifications for defining the API. 

C. The code to execute business logic needs to exist and be exposed as an API first before you build a strategy around
it. 

D. You define the API definition/contract first before any work on its implementation or any applications that use it,
allowing teams to work in parallel. 

Correct Answer: AB 

 

QUESTION 6

Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management
Service, what grants should be assigned to that user? 

A. Node Service Account 

B. Deploy API 

C. View all Details 

D. Deploy to Gateway 

Correct Answer: A 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/install-
gatewaynode.html#GUID-6848A2B0-03D0-435B-B867-5D9FD80E595B 
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QUESTION 7

Which built-in API platform policy lets you manipulate the request context? 

A. Application rate Limiting Policy 

B. Key Validation Policy 

C. Redaction Policy 

D. Groovy Script Policy 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E83857_01/paas/api-platform-cloud/apfad/using-oracle-apiplatform-cloud-
service.pdf (224) 

 

QUESTION 8

Which two are execution modes supported by gateway node in Integration API Platform Cloud Service? 

A. Production 

B. Development 

C. Stage 

D. Test 

Correct Answer: AB 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/installing-gatewaynode.html#GUID-
A02059C9-37B4-40F0-9FEA-C648804BB98F 

 

QUESTION 9

Which operation is NOT supported by Stage activity? 

A. Read Entire File 

B. Delete File 

C. Write File 

D. Unzip File 

E. Zip File 

F. Read File in Segments 

Correct Answer: F 
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Reference: http://www.ateam-oracle.com/integration-cloud-file-handling-primer/ 

 

QUESTION 10

Which two are ways the Oracle Internet of Things (IoT) Cloud Service environment can be accessed? 

A. using SOAP Interface 

B. using REST Interface 

C. Using a desktop client 

D. using Web Browser 

Correct Answer: BD 

 

QUESTION 11

Which three background colors are displayed for autocomplete in Process Cloud Service? 

A. Blue for complex binding names (their children may contain valid binding names) 

B. Red for invalid binding names 

C. Green for valid binding names 

D. Orange for unmatched binding names 

Correct Answer: ABC 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/binding-form-datacontrols.html#GUID-
CECD2F13-1E1A-457D-8BC8-8D605EEB213B 

 

QUESTION 12

Which two options cannot be performed from the Monitoring Dashboard? 

A. Activity Stream Download 

B. Artifacts Download 

C. Download Incident Logs 

D. Download Lookup 

E. Download Diagnostic Logs 

Correct Answer: BC 

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/monitoring-integrationcloud-
services.html#GUID-45976C83-37F1-4A6D-B79E-C749121B4E9E 
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QUESTION 13

What two grants allow an API Manager to use a service in their API? 

A. Manage Service 

B. View All Details 

C. Deploy API 

D. Reference Service 

Correct Answer: BC 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/managing-apigrants.html#GUID-
DDDD0BCC-E609-4F71-8882-B19A039B4A11 

 

QUESTION 14

What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service? 

A. Batch Analytics Processors 

B. Natural Analytics Processors 

C. Static Analytics Processors 

D. Streaming Analytics Processors 

Correct Answer: AD 

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding-analytics-processors.html 

 

QUESTION 15

Which four statements are correct regarding the differences between WSDL/SOAP and REST/JSON? 

A. REST is typically invoked with HTTP verbs. 

B. WSLD is simpler; REST is richer. 

C. Modern API-First architectures prefer to use tried-and-true WSDL/SOAP services over REST services because they
are richer and provide a tighter contract. 

D. WSDL is a request for a service; REST is a request for a resource. 

E. WSDL is a tight contract; REST is a loose contract 

F. REST more easily used in developing Uls than WSDL/SOAP. REST is gaining popularity in application development. 

Correct Answer: BCDF 
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